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main()
{
int fahr:
printf(" EFK BEE ¥n").
for (fahr=0;fahr <= 300;fahr=fahr + 20)
printf ("%3d%6. 1T¥n", fahr, 5.0/9. 0% (fahr-32)) :
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#define LOWER 0 /* _— LOWERIZ 0 ZEYBTS */
#define UPPER 300 =
#define STEP 20 i f%gigﬁffﬁé:] aArb: FarSARHEERTL
main() : : 725 O THEBAICES - &
{

int fahr:

printf (" EEE EE ¥n");
for (fahr=LOWER; fahr <= UPPER;fahr=fahr + STEP)
printf ("%3d%6. 1T¥n”, fahr, 5. 0/9. 0% (fahr-32)) ;
}
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#idefine MIN 1 ERT A TR
#define MAX 100000 sum=0, i ZEHTS
main()

( L EmiEay )
float sum=0.0; .

int i o< >
for (i=MIN:i <= MAX:i=i + 1) 1=1+§

sum = sum + i, ;
printf ("%d M 5% ETHOEEHIUT TF . ¥n”, MIN, MAX, sum) ; h“Fﬁmﬂl
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(1) 126 1EETOMERD S, (sumloku.c)
(2) 7aZ7ZL0EmMLES, MBI ZRD S, (time . /a. out)
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#define MIN 2
#define MAX 1000
main()
{

int i, j;

for (i=MIN; i <= MAX;i++) |
for (j=2:j < i:j+)
if(i% == 0) break;
if(i - j=0)
printf ("%d¥n”, i) .
}
]
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[(%%8] (1) 10000000FETHD, EHETV > T35,
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int k=0;
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k=k+1;
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l iT (k%1000 = 0) print( “%d¥n” ,i):
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